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Chemistry

1.
Rewrite the following statements to reflect individual amounts instead of mole amounts. Write the relevant ratio of atoms and molecules in each case.


a. There are two moles of carbon in one mole of the molecule ethane.


b. Decomposition of germane, GeH4, gives two moles of hydrogen gas for every mole of germane.


c. The destruction of nitrogen dioxide in a a car's catalytic converter gives one mole of nitrogen gas for two moles of nitrogen dioxide.

2.
The  oxygen-transport protein hemoglobin contains four atoms of iron in one unit of hemoglobin. How many moles of iron are in one mole of hemoglobin?

3.
Balance the following equations.


a.      NH3 +     O2  →     NO  +     H2O


b.      C5H10  +     O2  →     CO2  +  H2O


c.      SO2  +     O2  →     SO3

4.
Write a skeleton equation for each of the following reactions.


a. When potassium bromide is exposed to chlorine gas, potassium chloride and bromine are produced.


b. A white powder, ammonium chloride, is formed when hydrogen chloride and ammonia gases are mixed.


c. Magnesium sulfide produces magnesium sulfate and clouds of odorous hydrogen sulfide when mixed with sulfuric acid.

5.
At work you're asked to count the number of widgets in a large barrel. Being a clever science student you instead mass 100 widgets and measure 234 g. An identical barrel has a mass of 3910 g. If the barrel of widgets has a mass of 17,600 g, how many widgets are in the barrel? Show your process.

